Search region p?iss [GeV] T1tttt(2000,400) T1tttt(2200,1200) T5ttcc(2000,1200)

High Am, Ny =1, m% < 175GeV, Nj > 7, Nres > 1

10 >500 0.13 0.03 0.08
High Am, N, > 2, m5 < 175GeV, Nj > 7, Nyes > 1
11 >500 1.64 0.68 0.33
High Am, Ny, = 2, m8 > 175GeV, Ny = 1, Nyes = 0, Ny = 0, Hy > 1000 GeV
12 >650 1.25 0.27 1.96
High Am, Ny, = 2, mb > 175GeV, Ny = 0, Nyes = 0, Ny = 1, Hy > 1300 GeV
13 >450 0.15 0.03 0.12
High Am, Ny, = 2, mb > 175GeV, N; = 0, Nyes = 1, Ny = 0, Hr > 1000 GeV
14 >650 0.55 0.22 0.75
High Am, N, = 2, m5 > 175GeV, Ny = 1, Nyes = 0, Ny = 1
15 >550 0.24 0.06 0.35
High Am, N, =2, mb > 175GeV, Ny = 1, Nyes = 1, Nw = 0
16 >450 0.99 0.32 1.24
High Am, Ny, = 2, mb > 175GeV, Ny = 0, Nyes = 1, Ny = 1
17 >550 0.13 0.04 0.13
High Am, N, = 2, m5 > 175GeV, Ny = 2, Nyes = 0, Ny = 0
18 >450 0.97 0.17 1.10
High Am, N, = 2, m5 > 175GeV, Ny = 0, Nyes = 0, Ny = 2
19 >250 0.01 0.00 0.03
High Am, Ny, = 2, mb > 175GeV, Ny = 0, Nyes = 2, Nw = 0
20 >450 0.13 0.11 0.21
High Am, Ny, = 2, mb > 175GeV, (N + Nyes + Nyy) > 3
21 >250 1.15 0.23 0.06
High Am, N, > 3, m2 > 175GeV, (N; + Nyes + Nw) = 1
22 >550 3.01 1.03 1.34
High Am, N, > 3, m5 > 175GeV, (N; + Nres + Ny ) = 2
23 >250 4.68 1.68 1.10

High Am, Ny, > 3, mb > 175GeV, (Nt + Nyes + Nyy) > 3
24 >250 243 0.61 0.03



